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61. x  e  R, x ≠ 0, x ≠ 1 ∑§ Á‹∞ ◊ÊŸÊ 0

1
 ( ) 

1 
f x

x
= 

− 

ÃÕÊ  f
n+1 (x)=f0 (fn(x)), n=0, 1, 2, . . . „Ò, ÃÊ

100 1 2

2 3
(3) 

3 2
f f f

   
   
   

+  +  ’⁄UÊ’⁄U „Ò —

(1)
8

3

(2)
5

3

(3)
4

3

(4)
1

3

62. •Ê⁄Uªá«U ‚◊Ã‹ ◊¥ 2+i mÊ⁄UÊ ÁŸÁŒ¸c≈U Á’¥ŒÈ, 1 ß∑§Êß¸
¬Ífl¸ ÁŒ‡ÊÊ ◊¥ ø‹ÃÊ „Ò •ÊÒ⁄U Á»§⁄U 2 ß∑§Êß¸ ©ûÊ⁄U ÁŒ‡ÊÊ ◊¥

ø‹ÃÊ „Ò ÃÕÊ •ãÃ ◊¥ 2 2  ß∑§Êß¸ ŒÁˇÊáÊ-¬Á‡ø◊
ÁŒ‡ÊÊ ◊¥ ¡ÊÃÊ „Ò– ÃÊ •Ê⁄Uªá«U ‚◊Ã‹ ◊¥ ß‚∑§Ê ŸÿÊ
SÕÊŸ Á¡‚ Á’¥ŒÈ mÊ⁄UÊ ÁŸÁŒ¸c≈U „ÊÃÊ „Ò, fl„ „Ò —
(1) 2+2i

(2) 1+i

(3) −1−i

(4) −2−2i

61. For x e R, x ≠ 0, x ≠ 1, let 0

1
 ( ) 

1 
f x

x
= 

− 

 and

f
n+1 (x)=f0 (fn(x)), n=0, 1, 2, . . . Then the

value of 100 1 2

2 3
(3) 

3 2
f f f

   
   
   

+  + is equal

to :

(1)
8

3

(2)
5

3

(3)
4

3

(4)
1

3

62. The point represented by 2+i in the
Argand plane moves 1 unit eastwards, then
2 units northwards and finally from there

2 2  units in the south-westwards
direction.  Then its new position in the
Argand plane is at the point represented
by :

(1) 2+2i

(2) 1+i

(3) −1−i

(4) −2−2i
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63. ÿÁŒ ‚◊Ë∑§⁄UáÊÊ¥ x2+bx−1=0 ÃÕÊ  x2+x+b=0

∑§Ê −1 ‚ Á÷ãŸ ∞∑§ ‚Ê¥¤ÊÊ ◊Í‹ „Ò, ÃÊ |b| ’⁄UÊ’⁄U
„Ò —

(1) 2

(2) 2

(3) 3

(4) 3

64. ÿÁŒ 

3 1

2 2
P 

1 3
 
2 2

 
 
 
 
 
 

= 

−

, 
1 1

A 
0 1

 
 
 

=  ÃÕÊ

Q=PAPT „Ò, ÃÊ PT Q2015 P „Ò —

(1)
0 2015

0 0

 
 
 

(2)
2015 1

0 2015

 
 
 

(3)
2015 0

1 2015

 
 
 

(4)
1 2015

0 1

 
 
 

63. If the equations x2+bx−1=0 and
x2+x+b=0 have a common root different
from −1, then |b| is equal to :

(1) 2

(2) 2

(3) 3

(4) 3

64. If 

3 1

2 2
P 

1 3
 
2 2

 
 
 
 
 
 

= 

−

, 
1 1

A 
0 1

 
 
 

=  and

Q=PAPT, then PT Q2015 P is :

(1)
0 2015

0 0

 
 
 

(2)
2015 1

0 2015

 
 
 

(3)
2015 0

1 2015

 
 
 

(4)
1 2015

0 1

 
 
 



SET - 04 ENGLISH SET - 04 HINDI

Set - 04

65. ‚◊Ë∑§⁄UáÊ
cos sin sin 

sin cos sin 0

sin sin cos 

x x x

x x x

x x x

 = , ∑§ •¥Ã⁄UÊ‹

4 4
,

 
  

π π

 − ◊¥ Á÷ãŸ flÊSÃÁfl∑§ ◊Í‹Ê¥ ∑§Ë ‚¥ÅÿÊ „Ò —

(1) 4

(2) 3

(3) 2

(4) 1

66. ‡ÊéŒ “MEDITERRANEAN” ∑§ •ˇÊ⁄UÊ¥ ‚ øÊ⁄U
•ˇÊ⁄UÊ¥ ∑§ ∞‚ ‡ÊéŒ (øÊ„ •Õ¸„ËŸ „Ê¥) ’ŸÊŸ „Ò¥ Á¡Ÿ∑§Ê
¬„‹Ê •ˇÊ⁄U R ÃÕÊ øÊÒÕÊ •ˇÊ⁄U E „Ê, ÃÊ ∞‚ ‚÷Ë
‡ÊéŒÊ¥ ∑§Ë ∑È§‹ ‚¥ÅÿÊ „Ò —

(1)
( )

3

11!

2!

(2) 110

(3) 56

(4) 59

65. The number of distinct real roots of the

equation, 

cos sin sin 

sin cos sin 0

sin sin cos 

x x x

x x x

x x x

 =  in the

interval 
4 4
,

 
  

π π

 − is :

(1) 4

(2) 3

(3) 2

(4) 1

66. If the four letter words (need not be
meaningful ) are to be formed using the
letters from the word
“MEDITERRANEAN”  such that the first
letter is R and the fourth letter is E, then
the total number of all such words is :

(1)
( )

3

11!

2!

(2) 110

(3) 56

(4) 59
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67. x e R, x ≠−1 ∑§ Á‹∞, ÿÁŒ

(1+x)2016+x(1+x)2015+x2(1+x)2014

+......+x2016=
2016

 0

i
i

i

a x∑
= 

 „Ò, ÃÊ a17 ’⁄UÊ’⁄U „Ò —

(1)
2017!

17!  2000!

(2)
2016!

17!  1999!

(3)
2017!

2000!

(4)
2016!

16!

68. ◊ÊŸÊ x, y, z ∞‚Ë œŸÊà◊∑§ flÊSÃÁfl∑§ ‚¥ÅÿÊ∞° „Ò¥ Á∑§,
x+y+z=12 ÃÕÊ x3y4z5=(0.1) (600)3 „Ò, ÃÊ
x3+y3+z3 ’⁄UÊ’⁄U „Ò —
(1) 270

(2) 258

(3) 342

(4) 216

67. For x e R, x ≠−1, if

(1+x)2016+x(1+x)2015+x2(1+x)2014

+......+x2016=
2016

 0

i
i

i

a x∑
= 

, then a17 is equal

to :

(1)
2017!

17!  2000!

(2)
2016!

17!  1999!

(3)
2017!

2000!

(4)
2016!

16!

68. Let x, y, z be positive real numbers
such that x+y+z=12 and
x3y4z5=(0.1) (600)3.  Then x3+y3+z3 is
equal to :

(1) 270

(2) 258

(3) 342

(4) 216
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69.
1515

2

15
1 1

C

C

r

rr

r

 
  
 

∑
−= 

 ∑§Ê ◊ÊŸ „Ò —

(1) 560

(2) 680

(3) 1240

(4) 1085

70. ÿÁŒ 
2

3

2

4
lim 1 

x

x

a

e

x x→∞

 
 
 

+  − =  „Ò, ÃÊ ‘a’ ’⁄UÊ’⁄U

„Ò —
(1) 2

(2)
3

2

(3)
2

3

(4)
1

2

69. The value of 
1515

2

15
1 1

C

C

r

rr

r

 
  
 

∑
−= 

 is equal

to :

(1) 560

(2) 680

(3) 1240

(4) 1085

70. If 

2

3

2

4
lim 1 

x

x

a
e ,

x x→∞

 
 
 

+  − = then ‘a’ is

equal to :

(1) 2

(2)
3

2

(3)
2

3

(4)
1

2
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71. ÿÁŒ »§‹Ÿ

f(x)=
( )1

                             1

 cos   1 2

x, x

a x b , x

<


≤ ≤
−

−

+ + 

x=1 ¬⁄U •fl∑§‹ŸËÿ „Ò, ÃÊ 
a

b
 ∑§Ê ◊ÊŸ „Ò —

(1)
2

2

π  − 

(2)
2

2

π − − 

(3)
2

2

π + 

(4) −1−cos−1(2)

72. ÿÁŒ fl∑˝§ x=4t2+3, y=8t3−1, t e R ∑§ Á’¥ŒÈ P,
t ¬˝Êø‹ ∑§ ‚ÊÕ, ¬⁄U S¬‡Ê¸ ⁄UπÊ, fl∑˝§ ∑§Ê ŒÈ’Ê⁄UÊ Á’¥ŒÈ
Q ¬⁄U Á◊‹ÃË „Ò, ÃÊ Q ∑§ ÁŸŒ¸‡ÊÊ¥∑§ „Ò¥ —
(1) (t2+3, −t3−1)

(2) (4t2+3, −8t3−1)

(3) (t2+3, t3−1)

(4) (16t2+3, −64t3−1)

71. If the function

f(x)=
( )1

                             1

 cos   1 2

x, x

a x b , x

<


≤ ≤
−

−

+ + 

is differentiable at x=1, then 
a

b
 is equal

to :

(1)
2

2

π  − 

(2)
2

2

π − − 

(3)
2

2

π + 

(4) −1−cos−1(2)

72. If the tangent at a point P, with parameter
t, on the curve x=4t2+3, y=8t3−1, t e R,
meets the curve again at a point Q, then the
coordinates of Q are :

(1) (t2+3, −t3−1)

(2) (4t2+3, −8t3−1)

(3) (t2+3, t3−1)

(4) (16t2+3, −64t3−1)
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73. fl∑˝§ y=x2−4 ∑§ ∞∑§ Á’¥ŒÈ ‚ ◊Í‹ Á’¥ŒÈ ∑§Ë ãÿÍŸÃ◊
ŒÍ⁄UË „Ò —

(1)
19

2

(2)
15

2

(3)
15

2

(4)
19

2

74. ÿÁŒ

( ) ( )
A B

3
tan C tan

cos 2 sin2

dx
x x k

x x
= + +

„Ò, ¡„Ê° k ‚◊Ê∑§‹Ÿ •ø⁄U „Ò, ÃÊ A+B+C ’⁄UÊ’⁄U
„Ò —

(1)
21

5

(2)
16

5

(3)
7

10

(4)
27

10

73. The minimum distance of a point on the
curve y=x2−4 from the origin is :

(1)
19

2

(2)
15

2

(3)
15

2

(4)
19

2

74. If

( ) ( )
A B

3
tan C tan ,

cos 2 sin2

dx
x x k

x x
= + +

where k is a constant of integration, then
A+B+C equals :

(1)
21

5

(2)
16

5

(3)
7

10

(4)
27

10
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75. ÿÁŒ

      

1 11 1 2

0 0
2 tan cot (1 )xdx x x dx∫ ∫
− −

= − +  „Ò,

ÃÊ

1 1 2

0
tan (1 ) x x dx∫
−

−+  ’⁄UÊ’⁄U „Ò —

(1) log4

(2) log 2
2

+
π

(3) log2

(4) log 4
2

π

 − 

76. A = {(x, y)|y ≥ x2−5x+4, x+y ≥ 1, y ≤ 0}

mÊ⁄UÊ ÁŸœÊ¸Á⁄UÃ ˇÊòÊ ∑§Ê ˇÊòÊ»§‹ (flª¸ ß∑§ÊßÿÊ¥ ◊¥) „Ò —

(1)
7

2

(2)
19

6

(3)
13

6

(4)
17

6

75. If       

1 11 1 2

0 0
2 tan cot (1 )xdx x x dx,∫ ∫
− −

= − +

then 
1 1 2

0
tan (1 ) x x dx∫
−

−+  is equal to :

(1) log4

(2) log 2
2

+
π

(3) log2

(4) log 4
2

π

 − 

76. The area (in sq. units) of the region
described by
A={(x, y)|y ≥ x2−5x+4, x+y ≥ 1, y ≤ 0}
is :

(1)
7

2

(2)
19

6

(3)
13

6

(4)
17

6
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77. ÿÁŒ f (x), •¥Ã⁄UÊ‹ (0, ∞) ◊¥ ∞∑§ ∞‚Ê •fl∑§‹ŸËÿ
»§‹Ÿ „Ò Á∑§ f (1) = 1 ÃÕÊ ¬˝àÿ∑§ x>0 ∑§ Á‹∞,

lim
t x→

2 2( )  ( )
  1

  

t f x x f t

t x

−

=

−

 „Ò, ÃÊ  ( )3
2

f  ’⁄UÊ’⁄U

„Ò —

(1)
13

6

(2)
23

18

(3)
25

9

(4)
31

18

78. ÿÁŒ ⁄  UπÊ•Ê  ¥     1
3 4

yx
+ =  ÃÕÊ     1

4 3

yx
+ =

∑§ ¬˝ÁÃë¿UŒŸ ‚ „Ê∑§⁄U ¡ÊŸ flÊ‹Ë ∞∑§ ø⁄U ⁄UπÊ ß‚
¬˝∑§Ê⁄U πË¥øË ªß¸ „Ò Á∑§ ÿ„ ÁŸŒ¸‡ÊÊ¥∑§ •ˇÊÊ¥ ∑§Ê
A ÃÕÊ B, (A ≠ B) ¬⁄U Á◊‹ÃË „Ò, ÃÊ AB ∑§ ◊äÿÁ’¥ŒÈ
∑§Ê Á’¥ŒÈ¬Õ „Ò —
(1) 6xy=7(x+y)

(2) 4(x+y)2−28(x+y)+49=0

(3) 7xy=6(x+y)

(4) 14(x+y)2−97(x+y)+168=0

77. If f (x) is a differentiable function in the
interval (0, ∞) such that f  (1) = 1 and

lim
t x→

  
2 2( )  ( )

  1
  

t f x x f t

t x

−

=

−

, for each x>0,

then ( )3
2

f  is equal to :

(1)
13

6

(2)
23

18

(3)
25

9

(4)
31

18

78. If a variable line drawn through the

intersection of the lines     1
3 4

yx
+ =  and

    1
4 3

yx
+ = , meets the coordinate axes at

A and B, (A  ≠  B), then the locus of the
midpoint of AB is :

(1) 6xy=7(x+y)

(2) 4(x+y)2−28(x+y)+49=0

(3) 7xy=6(x+y)

(4) 14(x+y)2−97(x+y)+168=0
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79. Á’¥ŒÈ (2, 1) ∑§Ê ⁄UπÊ L : x−y=4 ∑§ ‚◊Ê¥Ã⁄U,

2 3 ß∑§Êß¸ SÕÊŸÊãÃÁ⁄UÃ Á∑§ÿÊ ªÿÊ–  ÿÁŒ ŸÿÊ Á’¥ŒÈ

Q ÃË‚⁄U øÃÈÕÊZ‡Ê ◊¥ ÁSÕÃ „Ò, ÃÊ Á’¥ŒÈ Q ‚ „Ê∑§⁄U ¡ÊŸ
flÊ‹Ë ÃÕÊ L ∑§ ‹¥’flÃ ⁄UπÊ ∑§Ê ‚◊Ë∑§⁄UáÊ „Ò —

(1) x+y= 2 6−

(2) x+y= 3 3 6−

(3) x+y= 3 2 6−

(4) 2x+2y= 1 6−

80. ∞∑§ flÎûÊ Á’¥ŒÈ (−2, 4) ‚ „Ê ∑§⁄U ¡ÊÃÊ „Ò ÃÕÊ y-•ˇÊ
∑§Ê (0, 2) ¬⁄U S¬‡Ê¸ ∑§⁄UÃÊ „Ò–  ÁŸêŸ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∞∑§
‚◊Ë∑§⁄UáÊ ß‚ flÎûÊ ∑§ √ÿÊ‚ ∑§Ê ÁŸM§Á¬Ã ∑§⁄UÃÊ „Ò?
(1) 4x+5y−6=0

(2) 2x−3y+10=0

(3) 3x+4y−3=0

(4) 5x+2y+4=0

81. ◊ÊŸÊ a ÃÕÊ b ∑˝§◊‡Ê—, ∞∑§ •ÁÃ¬⁄Ufl‹ÿ Á¡‚∑§Ë
©à∑¥§Œ˝ÃÊ ‚◊Ë∑§⁄UáÊ 9e2−18e+5=0 ∑§Ê ‚¥ÃÈc≈U ∑§⁄UÃË
„Ò, ∑§ •œ¸•ŸÈ¬˝SÕ •ˇÊ ÃÕÊ •œ¸‚¥ÿÈÇ◊Ë •ˇÊ „Ò¥–
ÿÁŒ S(5, 0) ß‚ •ÁÃ¬⁄Ufl‹ÿ ∑§Ë ∞∑§ ŸÊÁ÷ ÃÕÊ
5x=9 ‚¥ªÃ ÁŸÿãÃÊ (directrix) „Ò, ÃÊ a2−b2 ’⁄UÊ’⁄U
„Ò —
(1) 7

(2) −7

(3) 5

(4) −5

79. The point (2, 1) is translated parallel to the

line L : x−y=4 by 2 3 units. If the new

point Q lies in the third quadrant, then the
equation of the line passing through Q and
perpendicular to L is :

(1) x+y= 2 6−

(2) x+y= 3 3 6−

(3) x+y= 3 2 6−

(4) 2x+2y= 1 6−

80. A circle passes through (−2, 4) and touches
the y-axis at (0, 2).  Which one of the
following equations can represent a
diameter of this circle ?

(1) 4x+5y−6=0

(2) 2x−3y+10=0

(3) 3x+4y−3=0

(4) 5x+2y+4=0

81. Let a and b respectively be the semi-
transverse and semi-conjugate axes of a
hyperbola whose eccentricity satisfies the
equation 9e2−18e+5=0.  If S(5, 0) is a focus
and 5x=9 is the corresponding directrix of
this hyperbola, then a2−b2 is equal to :

(1) 7

(2) −7

(3) 5

(4) −5
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82. ÿÁŒ ŒËÉÊ¸flÎûÊ 
22

    1
27 3

yx
+ = ∑§ ∞∑§ Á’¥ŒÈ ¬⁄U πË¥øË

ªß¸ S¬‡Ê¸ ⁄UπÊ, ÁŸŒ¸‡ÊÊ¥∑§ •ˇÊÊ¥ ∑§Ê A ÃÕÊ B ¬⁄U Á◊‹ÃË
„Ò ÃÕÊ O ◊Í‹ Á’¥ŒÈ „Ò, ÃÊ ÁòÊ÷È¡ OAB ∑§Ê ãÿÍŸÃ◊
ˇÊòÊ»§‹ (flª¸ ß∑§ÊßÿÊ¥ ◊¥) „Ò —

(1)
9

2

(2) 3 3

(3) 9 3

(4) 9

83. ⁄UπÊ•Ê¥     
2 2 1

yx z
= = ÃÕÊ

  4  2   5
    

  1 8 4

yx z−+ −
= =

−
∑§ ’Ëø ∑§Ë ãÿÍŸÃ◊

ŒÍ⁄UË, Á¡‚ •¥Ã⁄UÊ‹ ◊¥ „Ò, fl„ „Ò —
(1) [0, 1)

(2) [1, 2)

(3) (2, 3]

(4) (3, 4]

82. If the tangent at a point on the ellipse

22

    1
27 3

yx
+ =  meets the coordinate axes at

A and B, and O is the origin, then the
minimum area (in sq. units) of the triangle
OAB is :

(1)
9

2

(2) 3 3

(3) 9 3

(4) 9

83. The shortest distance between the lines

    
2 2 1

yx z
= = and

  4  2   5
    

  1 8 4

yx z−+ −
= =

−

lies in the interval :

(1) [0, 1)

(2) [1, 2)

(3) (2, 3]

(4) (3, 4]
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84. Á’¥ŒÈ (1, −2, 4) ∑§Ë ©‚ ‚◊Ã‹ ‚ ŒÍ⁄UË, ¡Ê Á’¥ŒÈ
(1, 2, 2) ‚ „Ê  ∑§⁄ U ¡ÊÃÊ „ Ò ÃÕÊ ‚◊Ã‹Ê  ¥
x−y+2z=3 ÃÕÊ 2x−2y+z+12=0 ∑§ ‹¥’flÃ
„Ò, „Ò —

(1) 2 2

(2) 2

(3) 2

(4)
1

2

85. ∞∑§ ÁòÊ÷È¡ ABC, ¡Ê Á∑§ ‡ÊË·¸ A ¬⁄U ‚◊∑§ÊáÊ „Ò, ◊¥
A, B ÃÕÊ  C ∑  § ÁSÕÁÃ ‚ÁŒ‡Ê ∑ ˝ §◊‡Ê—

3 , 3i j k i j p k
∧ ∧ ∧ ∧ ∧ ∧

        + −  − + +  ÃÕÊ

5 4i q j k
∧ ∧ ∧

 +  −  „Ò¥, ÃÊ Á’¥ŒÈ (p, q) Á¡‚ ⁄UπÊ ¬⁄U

ÁSÕÃ „Ò, fl„ —

(1) x-•ˇÊ ∑§ ‚◊Ê¥Ã⁄U „Ò–

(2) y-•ˇÊ ∑§ ‚◊Ê¥Ã⁄U „Ò–

(3) x-•ˇÊ ∑§Ë œŸÊà◊∑§ ÁŒ‡ÊÊ ‚ ãÿÍŸ ∑§ÊáÊ ’ŸÊÃË
„Ò–

(4) x-•ˇÊ ∑§Ë œŸÊà◊∑§ ÁŒ‡ÊÊ ‚ •Áœ∑§ ∑§ÊáÊ
’ŸÊÃË „Ò–

84. The distance of the point (1, −2, 4) from
the plane passing through the point
(1, 2, 2) and perpendicular to the planes
x−y+2z=3 and 2x−2y+z+12=0, is :

(1) 2 2

(2) 2

(3) 2

(4)
1

2

85. In a triangle ABC, right angled at the vertex
A, if the position vectors of A, B and C are

respectively 3 , 3i j k i j p k
∧ ∧ ∧ ∧ ∧ ∧

        + −  − + +

and 5 4 ,i q j k
∧ ∧ ∧

 +  −  then the point (p, q) lies

on a line :

(1) parallel to x-axis.

(2) parallel to y-axis.

(3) making an acute angle with the
positive direction of x-axis.

(4) making an obtuse angle with the
positive direction of x-axis.
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86. If the mean deviation of the numbers
1, 1+d, ..., 1+100d from their mean is 255,
then a value of d is :

(1) 10.1

(2) 20.2

(3) 10

(4) 5.05

87. If A and B are any two events such that

P(A)= 2
5
 and 3P(A B)  20∩ = , then the

conditional probability, P(A?(A9∪B9)),
where A9 denotes the complement of A, is
equal to :

(1) 1
4

(2) 5
17

(3) 8
17

(4) 11
20

88. The number of x e [0, 2π] for which

    

4 2 4 2
2sin 18cos 2cos 18sinx x x x+  − +

=1 is :

(1) 2

(2) 4

(3) 6

(4) 8

86. ÿÁŒ ‚¥ÅÿÊ•Ê¥ 1, 1+d, ..., 1+100d ∑§ ◊Êäÿ ‚
◊Êäÿ-Áflø‹Ÿ 255 „Ò, ÃÊ d ∑§Ê ∞∑§ ◊ÊŸ „Ò —
(1) 10.1

(2) 20.2

(3) 10

(4) 5.05

87. ÿÁŒ A ÃÕÊ B ŒÊ ∞‚Ë ÉÊ≈UŸÊ∞° „Ò¥ Á∑§ P(A)= 2
5

ÃÕÊ 3P(A B)  20∩ =  „Ò, ÃÊ ¬˝ÁÃ’¥ÁœÃ ¬˝ÊÁÿ∑§ÃÊ

P(A?(A9∪B9)), ¡„Ê° A9, A ∑§ ¬Í⁄U∑§ ‚◊ÈìÊÿ ∑§Ê
ÁŸÁŒ¸c≈U ∑§⁄UÃÊ „Ò, ’⁄UÊ’⁄U „Ò —

(1) 1
4

(2) 5
17

(3) 8
17

(4) 11
20

88. x e [0, 2π] ∑§Ë ‚¥ÅÿÊ, Á¡Ÿ∑§ Á‹∞

    

4 2 4 2
2sin 18cos 2cos 18sinx x x x+  − +

=1, „Ò —
(1) 2

(2) 4

(3) 6

(4) 8
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89. If m and M are the minimum and the
maximum values of

2 41
4  sin 2   2 cos ,

2
x x+ −  x e R, then

M−m is equal to :

(1)
15

4

(2)
9

4

(3)
7

4

(4)
1

4

90. Consider the following two statements :

P : If 7 is an odd number, then 7 is
divisible by 2.

Q : If 7 is a prime number, then 7 is an
odd number.

If V1 is the truth value of the contrapositive
of P and V2 is the truth value of
contrapositive of Q, then the ordered pair
(V1, V2) equals :

(1) (T, T)

(2) (T, F)

(3) (F, T)

(4) (F, F)

- o O o -

89. ÿÁŒ m ÃÕÊ M, √ÿ¥¡∑§

2 41
4  sin 2   2 cos ,

2
x x+ − x e R ∑§ ∑ ˝§◊‡Ê—

ãÿÍŸÃ◊ ÃÕÊ •Áœ∑§Ã◊ ◊ÊŸ „Ò¥, ÃÊ M−m ’⁄UÊ’⁄U
„Ò —

(1)
15

4

(2)
9

4

(3)
7

4

(4)
1

4

90. ÁŸêŸ ŒÊ ∑§ÕŸÊ¥ ¬⁄U ÁfløÊ⁄U ∑§ËÁ¡∞ —

P : ÿÁŒ 7 ∞∑§ Áfl·◊ ‚¥ÅÿÊ „Ò, ÃÊ 7, 2 ‚ ÷Êíÿ
„Ò–

Q : ÿÁŒ 7 ∞∑§ •÷Êíÿ ‚¥ÅÿÊ „Ò, ÃÊ 7 ∞∑§ Áfl·◊
‚¥ÅÿÊ „Ò–

ÿÁŒ V1, P ∑§ ¬˝ÁÃœŸÊà◊∑§ ∑§Ê ‚àÿ◊ÊŸ „Ò ÃÕÊ
V2, Q ∑§ ¬˝ÁÃœŸÊà◊∑§ ∑§Ê ‚àÿ◊ÊŸ „Ò, ÃÊ ∑˝§Á◊Ã ÿÈÇ◊
(V1, V2) ’⁄UÊ’⁄U „Ò —
(1) (T, T)

(2) (T, F)

(3) (F, T)

(4) (F, F)

- o O o -
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Question No. Answer Key
Q61 2
Q62 2
Q63 4
Q64 4
Q65 3
Q66 4
Q67 1
Q68 4
Q69 2
Q70 2
Q71 3
Q72 1
Q73 3
Q74 2
Q75 3
Q76 2
Q77 4
Q78 3
Q79 3
Q80 2
Q81 2
Q82 4
Q83 3
Q84 1
Q85 3
Q86 1
Q87 2
Q88 4
Q89 2
Q90 3
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